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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Define:-

(1) Unsteady State(flow). (i1) NPSH (iii) Gauge Pressure.

(iv) Absolute Pressure (v) Fluid (vi) Newtonian Fluid (vii) Ideal Fluid.
Explain Reynold’s experiment with Laminar flow, Turbulent flow
and Transition flow.

Drive Bernoulli equation with assumptions.
Explain principle construction and working of Rota meter.
OR

Derive equation for two fluid manometers with figure.

Write note on centrifugal pump.
Drive an equation for orifice meter

OR
Water in flowing through 0.5 cm inner diameter pipe. The length of
pipe is 2 meter. The average velocity of water is 0.2 meter/sec.
Calculate friction factor. Assume density and viscosity of water as
0lgm/cm’® and Olcp respectively.
Explain working and construction of reciprocating pump.

In a Venturimeter, a liquid ( sp.gr = 2.6) flows as 120liters/min.
Pipe diameter in 5 cm. Manometer reading across Venturimeters in
50mm of mercury column. Find throat diameter of venturimeter.
Sp.gr of mercury is 13.6.
Classify valves and explain Gate valve.

OR
Describe factors affecting Friction and explain Friction factor chart.
Differentiate with neat sketches of Flange and Screw fitting.

Explain Pneumatic and Hydraulic conveying.
Explain Porosity of static bed , porosity of fluidized bed and
minimum porosity.

OR
Explain characteristic carves of Centrifugal pump.
A liquid, whose sp.gra is 1.84, is pumped at 160 lit/min from a feed
tank to receiver 5 meters above free liquid surface in feed tank.
Diameter of suction and discharge pipes are 4 cm and 2 cm
respectively. Total friction losses in whole pipe system are 25 cm of
liquid column. If the pump efficiency is 60 % . Find the pressure to
be developed by the pump.
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